POSC 428

Political Behavior

Dr. Dennis

Office Hours: M, W, F 10-11, SPA-227


Phone:

Home: (562) 597-7287  I encourage you to call me at home with

   your questions.




Office: (562) 985-5411



Fax:     (562) 985-4979


e-mail: cdennis@csulb.edu  (Phoning me at home is much better than e-mail



for asking and answering questions.  Also, either through not checking



my messages or computer difficulties, I may not return your e-mail



quickly enough to be useful.)

Political Behavior


This course examines mass and elite political opinions, how such opinions are transmitted into the political system through political participation and the impact of political participation on the policies government’s adopted, or fail to adopt.  Because so much of political and economic life involve dimensions of equality (e.g., the size of the “gap” between rich and poor, race relations, etc.), the “thematic” basis of this course concerns equality.  More specifically, what are mass and elite attitudes toward political and economic equality?  How does the American electorate and American political and economic elites compare to their foreign counterparts in terms of the extent to which they desire political and economic equality?  How are opinions about equality channeled through the political system?  Does the fact that those with high levels of education and income participate more fully in the political process than others have much impact on why government pursues, or fails to pursue, certain policies?   Finally, how does the desire for economic equality impact government economic policy?  


In addition to covering the substantive topics of political behavior, this course will also introduce you to various methods of statistical analysis.  Do not let that scare you!  No background in statistics is assumed.  Additionally, you will not need to memorize formulas, perform statistical homework assignments or need a calculator. Using the handout that I will give you later in the semester, you will need to be able to interpret various statistics.  This will greatly help you in later life.  We live in an increasing data oriented society.  You are likely to need to be able to interpret statistical tables in your future career.  This course can be of significant help to you in this regard.

Your grade will be based upon three equally weighted factors: your cumulative score on a series of unannounced quizzes (less your three lowest quiz scores), your cumulative score on two assignments, and a comprehensive final examination.  Missed quizzes are automatically dropped.  Thus, in order to be eligible for a make-up quiz, you would have to miss four quizzes (i.e., one more than the number dropped) and have a valid excuse for the fourth missed quiz.  Furthermore, in order to take a make-up quiz, you must notify me within one wee after the quiz was given in class.  Examinations and quizzes will contain both essay and objective questions.  Any assignment turned in after the end of the class period on the date due will be lowered 10 points per day late.  Just so there is not a misunderstanding, assignments turned in later than the class period on the date due are considered one day late.  Excuses such as you forgot to bring the assignment to school or that your computer malfunctioned are not accepted.  Do not e-mail an assignment.  If you give your assignment to someone else to turn in, you bear the responsibility.


I use a relative grading method.  Thus, your grade is determined by how well you score relative to other students.  For example, six out of ten points on a quiz is an excellent score if everyone else scores lower, but a poor score if everyone else scores higher.  The final grades in the course are geared to the average grade distribution for upper division political science courses (approximately 2.7 on a 4.0 scale).


The number and importance of the unannounced quizzes means that to be successful you need to both read the assignment by the date due and regularly attend class.  If you use your dropped quizzes to cover missed quizzes, this will likely force you to count quizzes you took, but scored low on.  As you will probably average one, or more quizzes per week, attendance and preparation are critical.


As I mentioned at the top of the syllabus, I encourage you to call me at home with your questions.  I will never make you feel foolish for having asked a question.  As one who has asked a seemingly infinite number of “foolish” questions, I under stand one’s reluctance to admit ignorance.  Furthermore, do not avoid calling me because you feel so confused you would not know what to ask.  Just call me at home and I can help you.  However, I can only help you if you give me the opportunity.  Your best strategy is to call me at home before 8 p.m.

The required texts for the course are as follows:

(1) The New Majority: Toward a Popular Progressive Politics edited by 

      Stanley B. Greenberg and Theda Skocpol (hereafter, “Greenberg and Skocpol”);

(2) Political Participation in the United States, third edition, by M. Margaret Conway   

      (hereafter, “Conway”);

(3) Economic Politics: The Costs of Democracy, by William R. Keech (hereafter 

      “Keech”)

Assignments

Please Note: Always bring the assigned book to class.  Additionally, always keep up with the dates below.  Even if class is cancelled, we will make the dates below.

Assignment 1 – Greenberg and Skocpol, pp. 1-56 due read by 9/9

Potential quiz questions include: According to Greenberg and Skocpol, who did Ronald Reagan win over to the Republican party that had not been with the party previously? (5: working class voters without college degrees) By age, who was most likely to vote Democratic in 1996? (5: those under 30) According to the authors, what is popular progressive politics? (6: uniting middle class and less-privileged working class families) How do Greenberg and Skocpol view the Democratic Leadership Council (DLC)? (10-12: useful in terms of getting Democrats back to the concerns and values of working families but ultimately, too conservative or not sufficiently populist on economic issues such as privatizing social security) According to Greenberg and Skocpol, what is wrong with left-liberals electorally relying on advocacy groups (such as women’s groups)? (13: makes the Democratic party respond to the top and bottom, but not the middle) According to Greenberg and Skocpol, what is the limitation for Democrats of an appeal to workplace-centered populism? (14-15: too narrow – on 11% of the workforce belongs to a union – Democrats must also include fighting crime, better schools, etc. to appeal to a broader group) According to Jeff Faux, what is the difference between Ronald Reagan’s definition of economic opportunity and that of the 50 years prior to Reagan’s presidency?

(23-24: Reagan – get all you can get – inequality is useful; pre-Reagan – the chance for ordinary people to raise a family, etc.) According to Jeff Faux, if technology, or the “skills gap,” is not the primary reason behind increasing inequality, what is? (28: the gains aren’t being shared – the economic elite has used globalization as an excuse to tear up the social contract) Does Faux favor greater public investment, or does he view it as less desirable than other uses of the same money?  (32-33: he’s favors greater public investment) According to Faux, why are costs rising faster in governmental heath insurance programs than private health insurance programs? (36: who the plans serve: government plans serve more sickly populations – the elderly and the poor) Are voters increasingly identifying themselves as middle or working class? (39: working class)  How does Brinkley think that the case for public investment could be persuasively made?

(43-44: reacquaint the public with what public investment has done in the past)  According to Brinkley, what was the effect of Keynesian economics on public investment? (51: reduced it by emphasizing government’s role in stimulating demand – e.g., through tax cuts) According to Brinkley, beyond physical assets and education, what is the value of public investments? (55: parks, etc. create a sense of community that says you are not alone) 

Assignment 2 – Greenberg and Skocpol, pp. 78-129 due read by 9/16

Potential quiz questions include: According to Marmor and Mashaw, what would happen in the absence of social insurance programs? (78-79: terrible disputes over who among the poor is “deserving” and reluctance by workers to embrace change since they no protection) According to Marmor and Mashaw, what type of testing does social insurance reject? (80: means testing – it makes programs stigmatizing and unreliable)

Why would Marmor and Mashaw oppose having the government setup a retirement account for each individual? (82: the redistributive component  is important – you don’t know what your future holds) If opponents of social insurance cannot get the public to

oppose the concept of social insurance, what do the opponents then resort to? (83: claiming we can’t afford) According to Marmor and Mashaw, how drastic are the changes necessary to keep Social Security on a sound footing? (85-86: minor) Why do Marmor and Mashaw oppose individual stock market based accounts as a replacement for Social Security? (86-87:  1 – does not take care of today’s retirees; 2 – some will lose in the market and this undercuts social securities ability to guarantee a poverty threshold) Why would privatizing Social Security not avoid government “meddling”? (90: 1 – government would force you to contribute; 2 – government regulates the securities industry) What constitutes  “fairness” in the worker-contributor model of Social Security? (91-92: we don’t know what the future will bring so we insure all against catastrophe while providing more to those who contribute more) According to Marmor and Mashaw, what would happen if Medicare were privatized? (95: the “good” risks would be privately insured while the “bad” risks would have welfare medicine) According to Marmor and Mashaw, do we need to change Medicare’s promise to elderly citizens by means-testing the program? (99-100: no) According to Skocpol, what has been the underlying premise of American social policy? (111: social benefits in exchange for either past or future service)  According to Skocpol, do most Americans view social policies in individualistic terms? (112: no) What is the “missing middle”? (115: the relative absence of protections for working-age adults and their children) According to Skocpol, what is wrong with Democrats focusing heavily on children? (127: children’s programs are often perceived as welfare programs and children can’t vote) 

Assignment 3 – Greenberg and Skocpol, pp. 149-194 due read by 9/23

Note: The first out of class paper, “Assignment 5,” is due 10/7.   You might want to begin preparing your answer.

Potential quiz questions include: According to Weir and Ganz, what are the policy consequences of citizen disengagement from politics? (150: the scope of what is public

shrinks as people don’t look to government but to privatized solutions) According to Weir and Ganz, what is the “key” to understanding how citizen s become disengaged from their government? (153: transformation of political parties from bottom-up to

top-down organizations) Why has conservative grassroots politics been more successful

that left-centered grassroots politics? (158-159: they tap into preexisting religious, recreational and social networks that have real and continuing significance in their members’ lives – plus business organizes locally – such as the Chamber of Commerce) What is wrong with having public sector unions as advocates of progressive politics (164: too narrow and appear self-serving in their defense of the public sector) Why do Weir and Ganz favor nominating candidates through caucuses and conventions instead of the direct primary? (170: because it involves organizing and involving people as opposed to

fund-raising) What is the potential weakness in the nomination by caucus or convention approach? (170: nominating extremist candidates as the party is taken over by a organized and determined minority) What is Karen Paget’s position on the balanced budget amendment? (She’s against it – the whole article is against spending limitations – would reduce money for public programs and preclude Keynesian economics) Which political party’s constituency would be most harmed by a balanced budget amendment?

(175: the Democratic party) What does Paget think of business tax breaks and subsidies?

(183: opposes them)  What type of programs were the most affected by the budget battles of 1995-96? (185: programs for low-income families – they were 21% of the budget but received 67% of the reductions) Why, or why not, would the ability to suspend a balanced budget amendment in the case of a recession be sufficient? (192: it would be insufficient because many recessions are regional, not national, and it would be

difficult to get the three-fifths vote needed; additionally, it can take several years to identify a recession)

Assignment 4 – Greenberg and Skocpol, pp. 221-237,  264-298 due read by 9/30

Remember, your first written work, Assignment 5, is due in one week (10/7), you might want to be preparing your answer.  Potential quiz questions include: According to Starr, in what sense(s) was Kevin Phillips correct? (222: he saw the South and West becoming Republican and gaining in population) What was “accurate” about the “New Politics” or “New Liberalism” vision?  (222-223: the Democrats would emphasize noneconomic and non-class related issues) According to Starr, what groups offer the Democratic party the chance to become a majority party again? (224-225: Hispanics; 227 – the elderly; 229- the young) How does Starr evaluate the strategy of Democrats appealing to centrist Republicans and Independents? (235-236: not as good as moving to the center-left economically and increasing the size of the electorate through activating inactive voters and pushing the median voter closer to the Democrat’s preferred position) What does Dawson see as the impact of globalization? (265: reductions in manufacturing – which disproportionately hurt African-Americans – as well as a greater sense of economic insecurity for all groups) According to Dawson, do opinion researchers under or overestimate the degree to which African-Americans and whites share the same information sources? (267: overestimate) How do whites see racial income inequality? (268: as being less unequal than African-Americans see it – 30% of whites think that African-Americans make the same, or more money, than whites) On anti-discrimination policy, are Latinos and Asian-Americans closer to African-American or white opinion? (269: African-American opinion) What is Dawson’s assessment of change in African-American attitudes toward the Democratic party? (272: black frustration with the Democratic party is pushing many blacks toward black nationalism) According to Faux and Greenberg, why has conservatism flourished? (280-281: because they have a compelling story to tell) How does the Democratic/progressive story that Greenberg mentions compare in popularity to the Republican/conservative story? (282: the Democratic story is more popular) How does the Democratic/progressive story fare against the anti-business story? (282-283: the Democratic story is more popular) Whom did Bill Clinton bring back to the Democratic party? (284: downscale voters) How does Greenberg think middle class families will respond to privatization of retirement systems and other market-based approaches for retirement/security issues? (292-293: probably negatively – they want security)    

Assignment 5 is to be submitted on 10/7
Using what you have read in Greenberg and Skocpol, as well as the class lectures you have suffered through, how would you assess the following statement: Americans will

strongly support a program to reduce income inequality. Before answering you might want to think through carefully the polling results I discussed in class, as well as those mentioned in the Greenberg and Skocpol book, and what types of programs would or would not be strongly supported.  Make sure you work alone.  I do not want a “group” project.  Submitting similar papers and telling me that you “studied together” is not acceptable.  Avoid using quotations.  In my experience, the primary reason people use quotations in this type of assignment is that they do not understand the material well enough to put it in their own words.  When you cite the text, use the author’s last name and the page number in parentheses (e.g., Greenberg and Skocpol p. 103).  The paper is to be no longer than 4 typed pages.  I will not read anything after the fourth page.  You may single space if you so desire.  The paper is due at the beginning of class on October 7, 2002.  Papers submitted later than the end of the class period on the date due are considered one day late and lose 10 points.  If you give your paper to someone else to turn in, you bear the responsibility if they do not submit the paper on time.  Excuses such as you forgot “to save” on your computer or that your typewriter ribbon broke will not be accepted.  The paper is worth 60 points. The points will be distributed as follows: 25 for the strength of your ideas; 25 for how well you use the assigned literature to support your ideas; and 10 for mechanics.  Only typed papers will be accepted.  Do not e-mail or fax your paper.

Assignment 6 – Conway, pp. 1-47 due read by 10/14

Potential quiz questions include: Why might some argue that low levels of political participation are desirable? (2: easier for the interested to workout compromises and 2-

a sense of contentment) Why might the winning candidate have difficulty claiming a 

“mandate”? (7: may receive less than 50% of the vote of the voting age population) What trends do you see in Table I-2 on page 8? (8: participation seems relatively constant over time)  Why is socioeconomic status likely to be an important explanatory factor with respect to political participation? (17: 1 – helps determine your “social role” which effects how you see the world; 2 – influences the cost/ability to understand political communication; 3 – influences your “stake” in political outcomes)  What is the weakness

of the socioeconomic status model of political participation? (18: tells us who, but not why, people participate) According to Conway, is the decline in voter turnout due to life

cycle or generation effects? (20: generational) In terms of explaining differences in political participation, what is the most important component of socioeconomic status? (25: education)  According to Conway, why does income influence political participation? (29-30: 1 – poor have to concentrate on the necessities of life; 2 – income is related to political information you receive on the job; 3 – skills useful for economic success – personality, drive, etc. – are related to participation)  Relative to education, how important is occupation in explaining political participation? (30: not very – still, people in occupations effected by the government do participate more – farmers for example) How is gender related to political efficacy? (37-38: women tend to have a lower sense of internal efficacy – aren’t as likely to feel their participation matters or that government is attentive to citizens’ needs as men) 

Assignment 7 – Conway, pp. 48-105 due read by 10/21

Potential quiz questions include: What is an attitude? (48: relatively enduring organization of interrelated beliefs that describe, evaluate and advocate with respect to an object or situation) How would you interpret Table 3-3 on pages 50-51? (50-51: much greater decline in interest in government and politics than in following campaigns) What is political efficacy? (51-52: belief that officials will respond to you or that your effort makes a difference) Is political efficacy increasing or decreasing over time? (53: decreasing) Since 1964, has the trend been toward a perception that government is more responsive, or less responsive, to public’s concerns? (56-57: less responsive) According to the text, how has television effect political trust and information about politics? (62: lower both by focusing on political competition to the expense of issues and parties) What is Maslow’s need hierarchy? (65: physical; security; affection love and a sense of belongingness; self-esteem; and self-actualization) What impact does Maslow’s need hierarchy have on political participation? (65-67: participation can, directly or indirectly, help meet various needs) What is the difference between a “critical” and a “secular” realignment? (79: time – critical realignment occurs at one election while a secular realignment is more gradual) How can a realignment effect the level of political participation? (79-80: marginal voters and nonvoters may become active and tip the balance of power) What is the relationship between political parties and political movements? (83: political movements tend to suggest that the political parties are not seen as meeting the needs of those in the “movement”; the movement can become a political party such as the Republican Party growing out of the anti-slavery movement) What seems to be the impact of political mobilization on voter turnout? (85-86: important, cost Dick Clark heavily in Iowa – can increase turnout 5%-10%) By education and income, whom do campaigns most increase turnout among? (87: highly educated people with low incomes) What appears to be the influence of television on trust and confidence in government? (90: reduce it) If media coverage does not seem to change people’s attitudes or beliefs, why is media coverage important? (92-93: structures how citizens perceive candidates and activates predispositions people already have) What seems to be the impact of voter projections on turnout and candidate choice? (95: reduces turnout and can change candidate choice among those who vote) What is the relationship between a person’s degree of organizational participation and their likelihood of voting? (98: positive)  

Assignment 8 – Conway, pp. 106-165 due read by 10/28

The second out of class written paper, “Assignment 10,” is due in two weeks (11/11).

You might want to begin preparing your answer.  Potential quiz questions include: What was the basis of the opposition to the right to vote for women? (110: southern political leaders because women had been active in the antislavery movement, conservative church leaders, businesses that feared women’s moral convictions – liquor) When women first became eligible to vote we would expect that turnout among women might be high.  Is this what happened? (111: no)  In terms of effectiveness, how would the Voting Rights Act of 1965 compare to the Civil Rights Acts of 1957 and 1960? (114-115: Voting Rights Act was much more effective) In terms of voter turnout rates, how does the United States compare with other developed democracies? (116: lower turnout)  Relative to other developed democracies, what factors increase turnout in the United States? (116-117: high sense of personal efficacy, high educational level and we have a clear translation of votes into legislative seats) Relative to other developed democracies, what factors depress turnout in the United States? (116-117: lack of automatic voter registration, short voting periods and weakness of political parties) Why does the United States have such stringent voter registration laws? (118-119: to reduce fraud)  How did the political parties differ on the “motor voter” law? (121: Democrats were more supportive)  What has been the impact of the motor voter law? (121: increased registration and reduced the rate of decline in turnout)  What appears to be the relationship between the number of elections and the turnout rate over the 50 states? (125: not much) As discussed in chapter 6, does rationality apply to setting one’s goals, or the means to obtain one’s goals? (137: means only) What is the relationship between a voter’s ability to perceive an issue difference between candidates and the probability that this particular voter will vote? (142: strong, seeing an issue difference between the candidates increases the probability of voting) Why do rational choice models have difficulty explaining voter turnout? (142-143: no one should vote – but since voting is a low cost/low benefit activity, rational choice models will have trouble explaining it) Which of the following appears to be more true: (1) nonvoters see the irrationality of voting and, thus, channel their political activity into nonvoting forms of political participation; (2) nonvoters simply participate less than voters in nonvoting forms of participation.  (145-147: nonvoters simply participate less than voters)  What is the “free rider” problem? (151: receiving benefits without making a contribution – or, why would groups form if individuals can free ride) According to Conway, does research typically support the view that individuals are as egoistic as Olson’s theory implies? (161: no)

Assignment 9 – Conway, pp. 166-208 due read by 11/4

Note: The second out of class paper, “Assignment 10,” is due next week (11/11).    You might want to continue working on  your answer.  Potential quiz questions include: According to Conway, what two factors together explain approximately 75% of the decline in voter turnout? (171: weakening of partisan attachments and reduced sense of external political efficacy) Has political trust decreased more among political centrists or political extremists? (171: extremists)  According to Ruy Teixeira, what factors explain change in voter turnout? (174-175: 1 – socioeconomic improvement which increases turnout; 2 – a substantial decline in social connectedness; 3 – a general psychological disengagement from the political world; 4 – decline in political party mobilization efforts– 2 through 4 lower turnout) What is the relationship between a person’s attachment to materialistic values and their likelihood of undertaking nonvoting forms political participation? (177: the more materialistic the lower the probability) What impact did protest participation between 1965 and 1973 have on the protestors’ political 

trust and efficacy? (188: lowered them)  According to Putnam, what is responsible for the decline in “social capital”? (191: television) What is collective representation? (194: the congruence between the distribution of policy preferences among the electorate and the distribution in the representative body) In what sense can descriptive representation not be representative? (195-196: when the philosophies of people and their demographic representatives are different) There have been a number of studies of the impact of African-American elected officials.  What does this research tell us? (197: African-American elected officials matter in terms of policy) On economic and noneconomic issues, how do voters differ from nonvoters?  (201: voters are more libertarian than nonvoters – more economically conservative and socially liberal) According to Earl and Merle Black, what has been the impact of African-American political participation in the South on southern state governments’ policies toward the poor? (202-203: not much – southern governments do not do much for their poor)  

Assignment 10 –  is due to be submitted on 11/11

Using what you have read in Conway, as well as class lectures, discuss how much inequality there is in various types of political participation, and why such inequalities occur.  Make sure you work alone.  I do not want a “group” project.  Submitting similar papers and telling me that you “studied together” is not acceptable.  Avoid using quotations.  In my experience, the primary reason people use quotations in this type of assignment is that they do not understand the material well enough to put it in their own words.  When you cite the text, use the author’s last name and the page number in parentheses (e.g., Conway, p. 39).  The paper is to be no longer than 4 typed pages.  I will not read anything after the fourth page.  You may single space if you so desire.  The paper is due at the beginning of class on November 10, 2002.  Papers submitted later than the end of the class period on the date due are considered one day late and lose 10 points.  If you give your paper to someone else to turn in, you bear the responsibility if they do not submit the paper on time.  Excuses such as you forgot “to save” on your computer or that your typewriter ribbon broke will not be accepted.  The paper is worth 60 points. The points will be distributed as follows: 25 for the strength of your ideas; 25 for how well you use the assigned literature to support your ideas; and 10 for mechanics.  Only typed papers will be accepted.  Do not e-mail or fax your paper.

Assignment 11 – Keech, pp. 3-44 due read by 11/18

Note: Do not be concerned about the graphs which appear on pages 25, 27, 29 and 35.  I will explain them in class.  You will not be quizzed on them.

Potential quiz questions include: What two views of democracy and macroeconomic politics does Keech examine? (3:1 – voters choose governments based on performance; 

2 – politicians are opportunistic and voters are naive) Why does Keech study macroeconomic issues as opposed to social issues such as abortion? (9: there are consensual standards on economic issues such as inflation – not so with abortion) Why does Keech oppose a constitutional amendment to require a balanced federal budget? (11: it lacks the incentives to actually change behavior) According to Keech, what is wrong with adopting a “process” standard of evaluation (i.e., if the process is followed, the results must be desirable) (18: we only accept the process as long as it produces acceptable outcomes) What should the role of government be in “the classical system”?

(24-26: no role in discretionary stabilization policy – government should just enforce the rules of the game – enforcing contracts, etc.) According to Keynes, what caused massive unemployment during the Great Depression? (26: inadequate demand) What does Keynesian economics legitimize that Buchanan and Wagner find objectionable? (29-31: budget deficits – taxes too low, expenditures too high)  In terms of a role for government, how would Keynesian economics differ from monetarism? (33-35: monetarism has much less of role for government) What is the “time-consistency problem”? (38: a difference between the best plan and what is best at any given time – a policy of not negotiating for hostages may discourage taking hostages, but if hostages have been taken, negotiating makes sense) What is supply side economics most known for? (41: aversion to taxes) Is supply side economics a serious theoretical contender to Keynesian economics and monetarism? (41: no)

Assignment 12 – Keech, pp. 103-126, 47-65 due read by 11/25

Note: I know the pages are “out of order.” However, you will have an easier time if you read the pages in the order above.  Do not be concerned about Table 3.1 on page 56.  I will explain it in class. You will not be quizzed on it.

Potential quiz questions include: Has the United States enacted a social welfare function into law? (104: no) According to Keech, which has been more successful,  Humphrey-Hawkins or Gramm-Rudman-Hollings? (107: Humphrey-Hawkins) What is Keech’s view of making economic growth a national goal? (118: he’d oppose it – no social welfare function tells us it should be a goal – tradeoffs – this has to be reformulated constantly by the political process) What is the difference between the views of economists and those of the public concerning a balanced budget? (118-119: the public is much more supportive of a balanced budget than are economists) Would Keech agree with Tufte’s characterization of the economics of the electoral cycle? (48-50: no – incumbent’s administrations lose too often and voters are not that myopic) How does Nordhaus see voters? (52-56: as foolish, not capable of learning) How do political scientists and economists differ on how rational they see human behavior? (57: economists think people are much more rational than do political scientists) According to Keech, what have test of the electoral cycle found? (61-62: not much support for it) 

Assignment 13 – Keech, pp. 66-99, 127-165 due read by 12/4

Please Note: Do not be concerned with the graph on page 75, or the math on pages 76, 79 and 84. I will explain them in class.  You will not be quizzed on them.  Similarly, do not be concerned about the formula on page 136.  The symbols are for

regression analysis and are compatible with what you are familiar with from pages 5-7 of the statistical handout: “a” is the y intercept and “b” and “c” are regression coefficients (i.e., the impact of one independent variable on the dependent variable holding the level of all other independent variables constant – see pp. 5-7 of the statistical handout).  Additionally, the “geometric lag” on page 137 is not a big deal.  The reason to use a lag is that the impact of an independent variable from an earlier time period has less impact than the same factor at a more recent time.  For example, the Bush Tax Cut of 2001 would have had more impact on the economy in 2002 than in 2003.  The lag is a way to measure the effect of time on the impact of an independent variable. If the impact of the independent variable “decays” (i.e., decreases) at a rate of 20% per time period, you multiply the impact by .80 (isn’t .80 less than 1.0 by .20? – yes- thus, 1.0-.20 = .80).  So, to discount something 6 time periods you would take .80 to the 6th power (i.e., .806 or .8 times .8 times .8 times .8 times .8 times .8) which equals .26 (the figure on page 137). 

Potential quiz questions include: According to Hibbs, why do Democratic and Republican administrations differ on unemployment and inflation goals? (69-70: the class interests of their core constituencies) According to Keech, why is Hibb’s finding of partisan differences on unemployment suspect? (74-75: not compatible with economic theory – assumes a stable Phillips curve) According to Okun, are “mistakes” in economic policy related to the partisanship of the administration? (79: yes – Democrats stimulate too much, Republicans not enough) Even if there is a natural rate of unemployment, why might there be differences in economic outcomes (e.g., unemployment) under administrations of different political parties? (84-85: 1 - the parties might not agree on what the natural rate of uemployment is; 2 – the parties could differ on the path to arriving at the natural rate – run a severe recession or do it more gradually) What is “contingent” goal formation? (89-91: the parties change their goals according to the economic circumstances)  Why might a conservative government run large budget deficits? (93: to constrain the spending options of a liberal party that might follow them in office) Does partisan polarization likely increase, or decrease, the costs of democracy? (97-98: increase them – may not get agreement on policies that could benefit everyone)

Does Keech see elections as offering a mandate to the winners? (129-130: no) What is the difference between retrospective and prospective voting? (130-133: retrospective evaluates over the past while prospective evaluates the future) How good a predictor of the vote for president is past economic performance? (133: pretty good) Are economic conditions more related to the presidential or the congressional vote? (135: presidential vote) What do Chappel and Keech’s results say about the sophistication of voters? (138-139: they seem somewhat sophisticated – at least the naive model does no better in predicting than the sophisticated model) What does Lewis-Beck find about prospective voting in Western Europe? (141: it was a better predictor of the vote than retrospective voting) According to Keech, were Roosevelt and Reagan elected president because of their ideas? (144: no, both elections involved the rejection of an incumbent) According to Keech, do “bad” times result in more prospective or retrospective voting? (146-147: retrospective) What example does Keech give of a president who probably would not have been elected if voters knew what he was going to do ? (although they subsequently re-elected him) (149: Reagan) According to Keech, at what point in a recession have fiscal policies designed to end the recession typically been enacted? (160-161: after the recovery had already begun)

Assignment 14 – Keech, pp. 165-222 due read by 12/9

Note: Do not be concerned about the formula on page 175.  I will explain it in class.  You will not be quizzed on it.  Potential quiz questions include: Why didn’t the 1974 Budget and Impoundment Control Act solve the budget “problem”? (168, 171: because motives were not changed – individual congressman preferred greater spending but low overall spending – which is incompatible, especially when congressman disagree on what the additional spending should be on) If Reagan believed in a balanced budget, why did he cut taxes? (179-180: because he assumed that political pressures would always unbalance the budget and he preferred to keep government small by reducing taxes) What does Keech think is the reason that the link between taxes and spending (i.e., that they should be balanced) was discarded? (180: Keynesian economics) Why have state balanced budget laws been more successful than federal balanced budget laws? (182: state laws were enacted before the debt built up) Does Keech view the gold standard as a viable method of bringing about more discipline in monetary policy? (187: no) If a recession were necessary in order to reduce inflation, would the Fed, the President or Congress be most likely to pursue it? (202: the Fed – its members aren’t elected) In evaluation the history of the Fed since 1900, how does Keech rate the importance of informal change relative to formal or legal changes? (203: informal can be just as important) According to Keech, what are the weaknesses of contingent rules? (204-205: 1 – can’t always anticipate all the necessary contingencies; 2 – the more complex it becomes the more difficult to tell if the contingent rules are being followed; 3 – in complex cases the contingent rules become virtually the same as discretion) Does Keech think that democracy can be understood within an “optimizing” framework? (212: no) Why? (212: because an optimizing framework depends upon externally defined goals for the objective functions) Does Keech see democracy as particularly prone to economic pathologies? (216: no)  

The Final Examination is Monday, December 16th from 10:15-12:15.

